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Terhetiast B vt Divide.
27, Dividea® —3a + 2bya—1. 28 Divide v + S5y + Thy y + 2.
29. Divide 2b° — 3 — 4 by b — 2. 30. Divide 3p” + 10p + 3 by p + 3.

31. Divide 5g° -+ 14g — 2by g + 3. 32. Divide ¢ —~ 25by ¢ — 5.
33. Divide x> — 3x — 59 by x — 0. 34. Divide d”> + 15d + 45 by d + 5.
35. Divide —x* — 6x = 16byx + 2. 36. Divide —x* + 9x — 12by —x — 2.

37. Divide b* — 7b + d by b + 3. 38. Divide 5 — 7m + 3m> by m — 3.

. Solve the equation.
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Solve the equation by completing the square.
32.x7 + 10xr =39 33. %7+ 16x =17 34.x° — 24x = —44
/o'~ 8x+12=0 3 +sc-Ll=0 7.7+ 1x+ 2 =0
n 2
3857 — -3 =0 39.x2+%x—1=0 40. 22+ x—1=0

41. 42 4+ 4x— 11 =90 42.3c° — 245 — 1 =0 43.4x> —40x —7 =0
44. 2> —8x— 13=7 45.5x7 —20x —20=5 46.3x> +4r+4 =3

47.4x> + 6x — 6 =2 48.6x° + 24x — 41 =0 49.20x2 — 120x — 109 = 0



